OREFRBRO

THERS KB IE

B ffi #h XX B 1

FE T X 5 fHIEAL

A& HE S 35%EHBZ A0%ATDIHA
SHRELE EERMRILIZLELT DGR
RIGIRIEHEE Gt ELAGW

t @ ﬁﬂT%U ﬁ%%%ﬁﬁ?é%@f@@u




2




2




3)

R.5. 1

35%

40%

0.00




3)

1. 000

1. 000

10

1. 000

11

12




3/

3)

13

14




2

. 000

. 000

. 000

. 000

. 000

. 000

. 000

. 000

. 000

. 000

. 000

. 000




2

1. 000




1)

1. 000

1. 000

1. 000

1. 000




1)

1. 000

1. 000

1. 000




5)

1. 000

1. 000

15. 000

21. 000

15. 000

25. 000

1. 000

6. 000

6. 000

1. 000

1. 000

5. 000




5)

1. 000

29. 000 8
1. 000
502. 000 9
1.400 10
0. 100 11
246. 000 12
1. 000
1.000
18. 000 13
0. 300 14
152. 000 15
2. 000 16




3/

5)

16. 400 17

1. 000

13. 000 nd 18
171. 000 19

1. 000 20

8.900 21

0. 100 ton 22
599. 000 23
599. 000 24
43. 900 25

1. 000

1. 000

1. 000 26




4

5)

1. 000

1.000
1. 000 27
277. 000 28
1. 000
87.000 29




5/

5)

1. 000

1. 000

47. 600

ton

30




(

U 11

1
1. 000 nB
Im  2m 1. 000 18
2
1. 000 n8
1. 000 17
1. 000 1
3
1. 000 nB
1. 000 17
1. 000 2




(

2/ 11)

4
1.000 n8
e 1. 000 4
P
0. 13n3( 0.1n8), ( . 9. 0k 1. 000 19
m
5
1.000 n8
) 1. 000 17
0. 13n3( 0.1n8), ( ,17.0 1. 000 20

km




(

3/

11)

6
1.000 n8
1. 000 7
7
1.000
. 0. 04kaq, 2. 72Kkaq, 1.000 9
8
1.000
( )
50x 50 1. 000 10




(

4

11)

9
1. 000
, 30Mba 1. 000 11
10
1. 000
, 1. 75kg 1.000 12
11
1. 000
1. 000 1




(

5/

11)

12
1. 000
., 17. 50kg 1. 000 13
13
1. 000 n8
S
.-, 21-8-25(20) ( 1.000 22
B} WCs5%
14
1. 000
P
1. 000 23




(

6/

11)

15
1. 000
6x 150x 150 1. 000
16
1. 000
P
( ) t=10mMn 1. 000 24
17
1. 000
P
L, 150 x5 1. 000 25




(

7/

11)

18
1. 000 n8
P
- .-, 21-8-25(20) ( 1.000 22
B} WGCs5%
19
1. 000
S &
1. 000 23
20
1. 000
P
( ) t=10mMn 1.000 24




(

8/

11)

21
1. 000
P
L, 150 x5 1. 000 25
22
ton 1.000 ton

SB45 D13 1. 000 ton

23

1. 000

P (
30mMm 200mM 1. 000 27




(

9

11)

24
1. 000
D13 1. 000
25
1. 000
« )
.t 3cm 1. 000
26
1. 000
SUS304 1. 000




(

10/

11)

27
1. 000
)
22. 000 1
) 22. 000 17
0. 13n8( 0.1n8), .12.0 22.000 21
km
22. 000 7
s 24. 000 4
P
0. 13n3( 0.1n8). ,17.0 24. 000 20
km
300. 000 15
28

1. 000




(

1y 11

1. 000 14

29

1. 000
P

,200 400nm 1. 000 26

30

ton 1.000 ton
)

.12m  , 10km ( 1. 000 ton 16




(Y 16)

10.000 n8
:8.0 ;0.0
:0.0
2) :0.0
3)
4)
10% 0.100
10.000 n8
10.000 n8
:8.0 ;0.0
:0.0
2) :0.0
3)

4)




( 2/ 16)

10% 0. 100
10.000 n8
1. 000
:8.0 ;0.0
:0.0
1) : :0.0
2) :0.0
1. 000
1. 000
:8.0 ;0.0
1 :0.0
1) : :0.0
2) :0.0
3)
4)

1. 000




(

3/

16)

1. 000

ka

1. 000

0. 14ko/ 1n?,

:8.0

:0.0

1
2)

:0.0

:0.0

;0.0

3)
4)

0. 14kg/ 1n?

1. 000

ka

1.000

1. 000

SUs304

:8.0

:0.0

;0.0

1
2)

SUS304

:0.0

:0.0

3)

S304

1. 000




(

4

16)

1. 000
1. 000
:8.0 :0.0
:0.0
1) : :0.0
2) :0.0
3)
1. 000
1. 000
1. 000
:8.0 :0.0
.t 3cm :0.0
1) : :0.0
2) (cm t 3cm :0.0




(

5/

16)

16 0. 160
20. 400
9
10. 000
:8.0 :0.0
, 0. 04ka, 2. 72ka, :0.0
1) : :0.0
2) (ka/ 10m 0. 04kag :0.0
3) (ka/ 10mM 2. 72kg
4) (__/ka)
5) ( /ka)
6)
7)
0. 050 ka
3.240 kg

0. 020




(6 16)

10. 000

10
( ) 100. 000
( ) :8.0 :0.0
50x 50 :0.0 :
1) 50x 50 : :0.0
2) (_/m :0.0
3) ( /ka)
4) (__/ka)
200mm 5. 000
(D

38% 0. 380




(

7/

16)

50x 50 103. 000
59. 000 kg
1. 300 ka
(2)
5% 0. 050
100. 000
11
100. 000
:8.0 :0.0
, 30Mba :0.0
1) : :0.0
2) 30Mba :0.0
[ < >
23. 000
27% 0. 270

100. 000




(

8/

16)

12
10. 000
:8.0 :0.0
. 1. 75ka :0.0
1) : :0.0
2) (__/ka) :0.0
3) (ka/ 10 1. 75kqg
1. 940 ka
2% 0. 020
10. 000
13
100. 000
:8.0 :0.0
, 17. 50kg :0.0
1) : ;0.0
2 (/ka) ;0.0




(

9

16)

3) ka/ 100 17. 50ka
20. 650 ka
12% 0.120
100. 000
14
1, 000. 000
:8.0 ;0.0
1 :0.0
1) : :0.0
2) :0.0
3) 1
4) (
22*1524* 6096 1, 000. 000
22*1524* 6096 1, 000. 000




( 10/

16)

(1-3 )] < >
365. 000
1, 000. 000
15
) 100. 000
) :8.0 :0.0
:0.0
1) : :0.0
2) 1 :0.0
104. 000
100. 000
16
) ton 1. 000 ton




(1Y 16)

. 12m

, 10km

:8.0

;0.0

:0.0

:0.0

;0.0

1)
2)

(_/ton)

3)
4)

12m
10km

5)
6)

9)

10)

10km

12m

1. 000

ton

1. 000

ton

1.000 ton

ton

17

1. 000 n8

g8

:8.0

;0.0

:0.0

:0.0

:0.0

1)
2)




(

12/ 16)

18

1. 000 n8

g8

im 2m

:8.0

;0.0

:0.0

:0.0

:0.0

1)
2)

im 2m

3)
4)

5)

19

1. 000 nB

%8

0. 13n3(

0.1n8),

(

:8.0

:0.0

;0.0

, 9. 0km

:0.0

:0.0

1
2)

0. 13n3(

0. 1n8)

3)
4HDD

)

5)

9. Okm




(

13/

16)

20

1. 000 n8

g8

0. 13n3(

0.1n8),

(

:8.0

;0.0

, , 17. 0km

:0.0

:0.0

:0.0

1)
2)

0. 13n3(

0. 1n8)

3)
40D

5)

17. Okm

21

1. 000 nB

P
P

0. 13n3(

0.1n8),

(

:8.0

:0.0

;0.0

, 12. Okm

:0.0

:0.0

1
2)

0. 13n3(

0. 1n8)

3)
4HDD

)

5)

12. Okm




(

14/

16)

22

S

1. 000 n8

SP

.-, 21-8-2

:8.0

;0.0

5(20) ( B WG5%

:0.0

:0.0

:0.0

1)
2)

3)
4)

5)
6)

7
8)

10)

21-8-25(20) (

B WGC5%

23

1. 000

g8

:8.0

:0.0

;0.0

:0.0

:0.0

1)
2)




(

15/

16)

24
P 1. 000
P :8.0 ;0.0
( ) t=10mm :0.0
: :0.0
:0.0
1)
2) ( ) t=10mMm
25
P 1. 000
P :8.0 :0.0
L 150 x5 :0.0
: :0.0
:0.0
1)
2) G150 x5
26
P 1. 000
P :8.0 ;0.0
200 400mm ;0.0




(

16/

16)

:0.0

;0.0

1)
2)

3)
4)

200 400mMm

27

1.000

30mM 200mm

:8.0

:0.0

:0.0

:0.0

:0.0

1
2)

30mM 200mm

3) ( )

4)90




1)

1.000

0. 14kg/ 1n?,

0.140

ka

1. 000




1)

P25012 | 50x 50 5, 600 10
P25204 kg 2,170 9
P25205 ka 2,680 9
P25206 ka 2, 480 10
P25208 ka 5,280 10
P96001 ns 800 7
P96004 | SUS304 28, 000 6




T I & 5 %

T fE E Al Al =1 = Bfi| #=E g =
T
RIE t+# B THEHEELY m> 15
®t BEWED THEHEELY m> 21 o2
P B<1.0m THEHEELY m> 0
HERE BEYWED THEHEELY m> 15 5t 15
(BRE+ERLTE)/TELELE09)-KIEE
BAL (15+21)/0.9-15 me 25




it EE IR

PRYE (L7 B) BB+ (EaEm AL &+ (B<1.0m)
ma | BN " %
W7 TE SEHMTE v | W SEHuTE ;| W7 TE SEHMTE I
(m2) (m2) (m3) (m2) (m2) (m3) (m2) (m2) (m3)
( LIFCoXED) B6~B19
NO.2+15.65 0.1 0.0 0.0
NO.3 4.35 0.1 0.10 0.4 0.1 0.05 0.2 0.0 0.00 0.0
NO.4 20.00 0.1 0.10 2.0 0.1 0.10 2.0 0.0 0.00 0.0
NO.5 20.00 0.1 0.10 2.0 0.2 0.15 3.0 0.0 0.00 0.0
NO.6 20.00 0.1 0.10 2.0 0.2 0.20 4.0 0.0 0.00 0.0
NO.7 20.00 0.1 0.10 2.0 0.2 0.20 4.0 0.0 0.00 0.0
NO.8 20.00 0.1 0.10 2.0 0.1 0.15 3.0 0.0 0.00 0.0
NO.9 20.00 0.1 0.10 2.0 0.1 0.10 2.0 0.0 0.00 0.0
N0.9+15.95 15.95 0.1 0.10 1.6 0.1 0.10 1.6 0.0 0.00 0.0
BRAR
NO.9+17.34 0.1 0.2 0.0
NO.10 266 0.1 0.10 0.3 0.2 0.20 0.5 0.0 0.00 0.0
NO.10+2.41 2.41 0.1 0.10 0.2 0.1 0.15 0.4 0.0 0.00 0.0
A F 145.37 14.5 20.7 0.0




T &

it EE IR

EREEmREL)
ma | BN " %
W M E Ve | W i M E Ve |
(m2) (m2) (m3) (m2) (m2) (m3)
(B LHFCoXMD) B6~B19
NO.2+15.65 0.1
NO.3 4.35 0.1 0.10 0.4
NO.4 20.00 0.1 0.10 2.0
NO.5 20.00 0.1 0.10 2.0
NO.6 20.00 0.1 0.10 2.0
NO.7 20.00 0.1 0.10 2.0
NO.8 20.00 0.1 0.10 2.0
NO.9 20.00 0.1 0.10 2.0
N0.9+15.95 15.95 0.1 0.10 1.6
BRAR
NO.9+17.34 0.1
NO.10 266 0.1 0.10 0.3
NO.10+2.41 2.41 0.1 0.10 0.2
a F 145.37 145




HBELIWRHEL K5HE

T & B A # A g Hii| ®E & &
R BEET
TREET t=4cm 144.200 X 0.04 m°®
EREIAWET BEREIRE m’




HELH BEHEE

- JE(I'&)E JERRIE (m) ﬁ?ﬁgﬁ
m = m
" | I T o-0ron | 5-0@
—Fé%{ 065377
6 9.600 i%m 5979 0.978 9.389
b .
7 | 10820 i%};ﬂ g:g;: 0.979 10,503
b .
8 | 10080 i%};ﬂ g:g;g 0.975 9.828
b .
9 | 10190 i%};ﬂ g:z;g 0.969 9.874
b .
10 | 10240 i%};ﬂ g:zgg 0.965 9.882
b .
11| 10200 i%};ﬂ g:zg: 0.967 9.863
b .
12 | 10040 i%};ﬂ g:zgg 0.969 9.729
b .
13 | 10.360 i%};ﬂ g:zg: 0.969 10.039
b .
14 | 14380 i%};ﬂ g:zgg 0.975 14.021
b .
15 | 10.070 i%};ﬂ g:ggg 0.989 9.959
b .
16 | 10430 i%};ﬂ ?3?2 1.006 10.493
b .
17 | 9.950 i%};ﬂ :g;s 1.022 10.169
b .
18 | 10.000 i%};ﬂ :gf; 1020 10.200
19 | 10.100 igﬁ;ﬂ :g;g 1.006 10.161
= 144.200




AV —hEEI KEER

T & g A | =1 = ==X iv3 = ® %

VUEIhEET = 1
aVH)—hEET

VDUEINFTET | B=0.6mm BEFEELY m 5.1

HihwEE T = 1
aVH)—hEET

AT LEAL 50 X 50 BEHEELY m 29.0

REHEL = 1
aVH)—hEET

EERET 30Mpa BEFEELY m? 502
av9)—MMEET

BrESET MR t=66mm BEHEELY m” 1.4
E5 N ok b LB a9 —MEET

+HTE ISR T R t=5mm BEHEELY m? 0.1
aVH)—hEET

REHEL R t=5mm BEHEELY m? 246




aVvH—MEBI(1/2) HEHEE

s VOB R HEBET BRI E ST
s £ S(m) s 1&(m) £ S(m) E#(m2) s 1&(m) F&(m) 1% (m2)
LS D-1 0.20 0.55 0.1100
D-2 0.15 0.20 0.0300
6 HaeE D-3 0.15 0.20 0.0300
D-4 0.02 0.02 0.0004
/NEE 0.1704
LS D-1 0.02 0.04 0.0008
7 HaEE H-1 0.85 D-2 0.02 0.02 0.0004
/NEE 0.85 0.0012
p—_ D-1 0.02 0.02 0.0004
9 i D-2 0.08 0.20 0.0160
HaEE D-3 0.02 0.02 0.0004
/NEE 0.0168
H-1 0.85
12 ERE H-2 0.85
£ 1852 H-3 0.85
/NEE 2.55
13 LS H-1 0.85
/NEE 0.85
14 LS D-1 0.02 0.02 0.0004
/NEE 0.0004
D-1 0.02 0.03 0.0006
A {AEE D-2 0.03 0.03 0.0009
1 D-3 0.03 0.03 0.0009
J—_— H-1 0.85 D-4 0.02 0.02 0.0004
D-5 0.30 0.75 0.2250
/NEE 0.85 0.2278
D-1 0.03 0.02 0.0006
B D-2 0.06 0.03 0.0018
16 D-3 0.75 0.40 0.3000
HaEE D-4 0.03 0.03 0.0009
/NEE 0.3033
LS D-1 0.30 0.45 0.1350
17 HaEE D-2 0.02 0.02 0.0004
/NEE 0.1354
D-1 0.03 0.02 0.0006
I D-2 0.20 0.30 0.0600
D-3 0.10 0.40 0.0400
18 D-4 0.25 0.40 0.1000
J—_— D-5 0.02 0.02 0.0004
D-6 0.40 0.85 0.3400
/NEE 0.5410
JNET 5.10 1.3963 0.0000




aVvH—MEBI(1/2) HEHEE

s VOB R HEBET BRI E ST
i2s F&(m) £S5 ={G) FS(m) Ef(m2) BS #&(m) FS(m) E#(m2)
-1 0.02 0.03 0.0006 T-1 0.25 0.02 0.0050
e T-2 0.80 0.02 0.0160
T-3 040 0.02 0.0080
T-4 075 0.02 0.0150
19 0.02 0.02 0.0004 T-5 040 0.02 0.0080
HEE 007 001 0.0007 T-6 035 0.02 0.0070
T-7 035 0.02 0.0070
T-8 1.20 0.02 0.0240
Vet 0.0 0.0017 0.0900
Ihat 0.00 0.0017 0.0900
&5t 5.10 1.3980 0.0900




VY —MEIEI(2/2) $EFESE

R BERAT
WLr
3 BrE ER
'g"él’ £(m) s | o 1 (m) - ﬁzﬁﬁ PRER | AxER | BE | ER 8 (m) AR
e = e LT Zom | ERER | SNER
%__'_ @ % ) (@: ®= SEH) (m2) (m2) (m2)
- ) @) e (g)@)/-; @OxD ® Gg_ 5® D=®@ LHRE: @ |@= ®= ® @=
e [ 1853 1B | 9.650 L0 LEL] g o °°F D i
6 ToREL =l 9.8 00 S BIEE | 0650 | onll. 0875
3730 | mEM | oso0 |ZB: L TaM: ool 7 | o
HRE | 1876 IR al " 139 00 w36 | e | osso [AE: 08881, 10943
pury Rt s 1 1} — — FoEoses| 0%88 848 0.000
TR 0] : 0.0
R 0.935 e | 10830 A 1.0
7 T o 10 109 00 S EE | 10830 | LoeBL_ 0878 o
1880 | MR | 10820 [—IABL L T oms | o
HRE | 0943 TR al " 152 00 a1 | ame | 10s0 [AEL 08881, 19198
e | 10820 LB L9 10 1.0 AN uel — -
TR 0] : 0.0
R 0.945 e | 10080 A 1.0
8 T o 10 102 00 S RE | 10080 | LoeBL_ 0885 o
1.890 EhR | 10.080 J:;’Ef‘“ : L4 14 14.1 0 T oo = - o
HRE | 094 TRE. 14 - 0 45 | e | 100 [—SH: 089 18003
? g | 100g0 LB L9 10 102 AN ol | -
TR 0] : 0.0
R 0,957 e | 10200 A 1.0
9 T o 10 104 00 SRE | 10200 | LOeBL_ 0805 o
1.920 R | 10.190 J:;Ef‘“ : 14 14.2 T oo = o o
P Tl ial " : 0.0 a9 | mfEe | 10170 [—LAEL 0899 18.384
8 e | 10170 AR L9 10 103 AN ol " -
TR 10 : 00
R 0,970 e | 10280 A 1.0
. T o 10 105 00 S RE | 10280 | LoeBL_ 0000
1940 | R | 10240 |—SAAEL: L4 4 TE0L ool = o
HBE | 098 TRE. 14 142 00 a1 | e | r0z0 [ZAEL 08951, 19989
HEe | 10210 LA EIRP 124 TAS omal = o
TR 0] : 0.0
R 0,983 e | 10200 A 1.0
) T o 10 105 00 S EE | 10200 | LoeBL 0020
1960 | MR | 10200 [—IARL EIRP T w7 o
HhE | 0978 TRE: to| " 120 00 330 | #E | 10200 [LAE 09181, 18870
1812 | 10.200 %”fi{’:‘“ : Lo o 10.5 0.0 TR 0928 = ki oo
Al 1.0 ) ) :
smeE | o s | 10050 [—mILBL: 1.0
; B | 0994 ST =5 10 105 0.0 S BIEE | 10050 | oell:_ 0933
1980 | MR | 10040 IR L AN ool 7 | T o
HhE | 09 TRE. 14 140 00 s48 | e | 10050 [AE: 09281 18.804
H@EE | 10050 |l 1.0 TAf: 0935 %2 5967 0.000
TR 0 104 0.0
R 1004 e | 10310 A 1.0
; T =t 108 00 SR | 10310 | LoeBL_0oadl o
2000 | M | 10360 |=2B: L T o] T | o
HEE | 0991 i ) 144 00 361 | mfEe | 10300 [—LAEL 0935 19.530
e | 10300 LBl 1.0 Tl 0.041 0938 746 0.000
INET 17.300 — o = >
281.0
143716




VY —MEIEI(2/2) $EFESE

RETLEAT BEXST REBET
BX(m) L] TR & (m) BER HRER AntEi | Em TR & (m) fER | ERER ArtER
A\ & (m) 1§ (m2) (m2) (m2) =17 (m) B3] (m2) (m2) (m2)
B lzam| o [o- o |EEH_© [0= [o o |0= oee | =@ o= ®= e |0=
e | @ [O+@ i © ez |9*P 2620 e ® |02 [0x8 26-2®
ol 0.0 Tl 0000
B 2% L Bl|BE AL
EfBIEE 0.984 E{aEE | 14.360 TER 0 05 15 0.0 KRB | 14.360 AR 0934 0.467 6.706 0.000 12383
Al 14 _— LER#:  0.000 '
14 — 1.960 &M | 14.380 TER v 20.1 0.0 425 HEIEE | 14.390 FAE 0928 0.464 6.677 0.000
B 3 .
A1 0.978 HaE | 14300 i/:‘lg::] :8 1.0 14.9 0.0
LAY - A
A 1.0 Lol 0934
| BE 1L S L
AR 0.969 E{a1EE | 10.140 TER 0 1.0 10.5 0.0 E{AIBE | 10.140 AR 0970 0.927 9.4 0.000 eoi2
Al 14 _— ERE: 0928 '
15 — 1.940 JERR | 10.070 TER v 14.2 0.0 35.0 HEE | 9970 FAE 0919 0.924 9.212 0.000
B 3 .
HfEe | 0969 A | 0970 iuﬂ::l : :-g 10 103 00
LAY - A
R4 1.0 Lol 0919
| BE 1L S L
AR 0.970 E{a1E | 10.760 TR 0 1.0 11.0 0.0 E{2IBE | 10.760 AR 0.920 0.920 9.899 0.000 rozs
Al 14 _— ERE: 0919 '
16 — 1.950 JERR | 10.430 TR v 14.9 0.0 36.4 H{EIEE | 10.100 FAE 0929 0.924 9.332 0.000
B 3 .
A1 0.979 HaE | 10100 i/:‘lg::] :8 1.0 104 0.0
LAY - A
R 1.0 Lol 0920
Il B JIL S JIL
e 0.969 LEIEE | 9.970 ST 0 10 10.2 0.0 KRB | 9.970 AR 0919 0.920 9.172 0.000 a4t
Al 14 _— ERE: 0929 '
17 — 1.950 ERR 9.950 TER 5 1.4 14.4 0.0 34.8 HEE [ 9920 FAB 0934 0.932 9.245 0.000
B 3 .
HfEe | 0984 HEEE | 0920 iuﬂ::l : :-g 10 103 00
LAY - A
R4 1.0 Lol 0919
| BE 1L S L
AR 0.965 Z{aEE | 9.980 TR 0 1.0 10.2 0.0 E{IBE | 9.980 TEE 0975 0917 9.152 0.000 a4z
Al 15 _— LERE: 0934 '
18 — 1.940 JERR | 10.000 TER o 145 0.0 35.0 H1{E1E | 10.000 FAE 0922 0.928 9.28 0.000
B 3 .
A1 0.972 HaEE | 10000 i/:‘lg::] :8 1.0 103 0.0
L N A
ERM: 1.0 FRAL___0.000
Al &% Bl BE 2
£ 0.965 E{a1E | 10.180 ST 0 1.0 10.5 0.0 E{2IBE | 10.180 AR 0915 0.458 4,662 0.000
19 1930 | MR | 10100 [~ LEC 14.4 00 373 | HEEE | ooso | LBl 09191 0, 9.152 0.000 et
i ’ : R 1.4 ) ) ) : i : TimAl: 0914 ) : :
Bl B 0.964 Al 15
Il B JIL
HEIEE | 9.980 THEL 0 1.2 12.3 0.0
INET 11.670 221.0 101.889
a5t 28.970 502.0 245605




KB T KR

T & E Al Al g =R B ®E " %
Easoy—+T [ (JERR) = 1
BEIVD)—FI (ER)
avH)—rI| ock=18N/mm2 HMESHEELY m? 18
6/\LJL+19/\LJL
BT — g 0.158+0.106 mZ 0.3
BESHE BEa ) — T (ER)
SERT ¢ 6mm 150 % 150 MEFHEELY m> 152
ISRFvII45—| BEIALH)—FI (ER)
BiiREE T t=10mm BEHEELY m? 2
BEIVD)—FI (ER)
1E/KHREEE T | CF150mm X 5mm MESHEELY m 16.4
% EiFfav oy —hT =® 1
sEFary)—rT
avH)—rI| o ck=18N/mm2 HMESHEELY m? 13
sEFary)—+T
BT — AR R BEFEELY m? 171
ISRFYITL5— sLtiFary)—+x
BiiREE T t=10mm BEHEELY m? 1
sEFary)—+T
1E/KHREEE T | CF150mm X 5mm HMESHEELY m 8.9
ZLEFLT |D13@500 L=0.20m 599 X 0.2 x 0.000995 t 0.119
HilFL ¢ 16 L=0.10m & 599
EEE s 7 h— D13 VN 599
FYELT I| t=2~3cmiBE m? 439




é =
BEaVH) I (ER) HEEFEE
avH—kL ock=18N/mm* B ¢ 6mm HHRET
_ 150 150
. R e Ex | mER | TENE R T
BithiR 1k
&= W E (m) ;|  t(m) (m2) (m2) (m3) (m2) (m2) (?n()*‘i
T2 @ @@ ® | &®x® | @=:10/2 | ®=0xQ [ (£ (?5_2—0.05) D=FHABO Q=FAM®
i x (D-0.05
J:,ﬁ.ﬁ'J -FJE 0.977 )
; - 5T 550 1.106 0.158 0.175
- . 2k 0.159
6 Tl TiB: 0.979 0.14 1.11
# SRR 1.107 0.129 0.143 157 10.41 0.31 2.21
0.17 111
e T38| 0979
, ] 08 57 935 1.107 0.129 0.143
— ) =5 T oo 0.139 150 11.35
Tid T35 1.100 0.122 0.134 o e
o F30:| 0978
. ] 008 57 T2 1.100 0.122 0.134
— . =T 072 0.130 131 1048
Tid T a0 1.089 0.116 0.126 o 108
o T30 0972
. ] ot 57 205 1.089 0.116 0.126
— ) =T oo 0.123 1.25 1047
Tid TR RS 1076 0.111 0.119 o1 1o
il Tl 0.965
o # one o0 1076 0.111 0.119 ,
— ) =S 116 119 1042
T T B 1.069 0.106 0.113 ol 17
il Tl 0.965
y # 00 TR R 1.069 0.106 0.113
— ) =S T o968 0.111 113 1032
Tid e 1.064 0.102 0.109 o 108
il Tl 0.968
12 # oo e 1.064 0.102 0.109
— . =T o9 0.108 108 10.10
Tid TR R 1.058 0.101 0.107 o 108
il Tl 0.969
o # s TR ERTY 1.058 0.101 0.107
— ) =S T o968 0.106 1.10 1036
Tid TR R 1.052 0.100 0.105 o 1o
il Tl 0.968
" # o TR R 1.052 0.100 0.105
— . =T o9 0.110 158 1454
Tid 5T, 1077 0.106 0.114 o 1o
il Tl 0.982
5 # oo 5T, 1077 0.106 0.114
— . =S T 559 0.117 118 10.41
T 700 1.100 0.109 0.120 o1 1o
/NGt
12.89 108.86 1.36 11.90




BEIVI)—FT(EMR) HEHEE
av9Y—hI ock=18N/mm* %*ffbf;’;gmm HMSET
UL (132 #&(m) B M AR T ME R g Btk 1EKAR
&= W E (m) EHy|  tm) (m2) (m2) (m3) (m2) (m2) (m)
=1 Ti: (@) —
@ - %@)/2 ® ©@x® | ?=:10/2 | ®@=DxD | (X@=2-005) D=THEOG D=THED
L] ® X ((0-0.05)
L I’% ?'gzg 1.100 0.109 0.120
16 1043 _F?Ej G 0.119 1.24 11.01 0.12 1.12
T J:;ij T 1.121 0.104 0117
i Tid:] 1,016 1121 0.104 0.117
17 9.95 LB:] 1.226 0.116 1.15 1067 0.12 114
; FE:| 1027 ‘ : : : :
TRE T 128 1.135 0.101 0.115
L I’% :(2)421; 1.135 0.101 0.115
18 10.00 _F?Ej e 0.117 117 10.74 0.12 1.12
T J:;ij e 1.124 0.106 0.119
L I’% :gég 1.124 0.106 0.119
19 — 10.10 _F;ij e 0.120 1.21 10.74 0.12 111
TR o 122 1114 0.109 0.121
N 4.77 4316 0.48 449
S5t 17.66 152.02 1.84 16.39




BELFaVIU—bT BEHEE

avH1)—kI 0ck=18N/mm?
| | EEE wm) ol i Hh(m") i S
2| e _ i - K AR LR
- e T = — (m?) (m? (m) L]
+wm. @ |@@2 | @ |exe |oxe 0=:0-0 |5 o6 -
k@B | 965 EFH. 0300 —— — —
T t::} 8'297 0299 | 0150 0045 | 043
6 HEEE | 955 i%u 0:222 0292 | 0.150 0044 | 042 0.85 11.35 00 0.17 058
. . 116
__ 0.09
. E@E | 1083 i%gﬂ ; g:;g; 0295 | 0.150 0044 | 048 =
HEE | 1082 i%gﬂ g:;gg 0291 | 0.150 0044 | 048 098 1208 0o 0es
Z= .
. £@E | 1008 i%gﬂ ; g:;gg 0293 | 0.150 0044 | 044
@z | 1008 i%gﬂ g:ggg 0298 | 0.150 0045 | 045 08 e 008 0os
Z= .
. £@EE | 1020 i%gﬂ ; g:;gg 0296 | 0.150 0044 | 045
mEE [ 1017 i%gﬂ g:ggg 0300 [ 0.150 0045 | 046 oot 1214 008 0e0
= .
o £@EE | 1028 i%gﬂ ; g:;g? 0298 | 0.150 0045 | 046
e | 1021 i%gﬂ g:ggg 0300 [ 0.150 0045 | 046 0o 1228 008 0%
Z= .
) £@EE | 1020 i%gﬂ ; gé: 0294 | 0.150 0044 | 045
HEE [ 102 i%gﬂ g:;gg 0298 | 0.150 0045 | 046 oot 1208 0o 0os
Z= .
12 £@E | 1005 i%gﬂ ; g:;g; 0201 | 0.150 0044 | 044
@z | 1005 i%gﬂ g:;g; 0297 | 0150 0045 | 045 08 ez 008 0os
= .
o e | 1031 i%gﬂ ; g:;gg 0290 | 0.150 0044 | 045
HEE [ 1039 i%gﬂ g:;g; 0298 | 0.150 0045 | 047 0o 121 00 0os
Z= .
" E@EE | 1436 i%gﬂ ; g:;gg 0293 | 0.150 0044 | 063
AR | 1430 i%gﬂ g:ggg 0300 [ 0.150 0045 | 065 128 17 008 0%
= .
5 £@EE | 1014 i%gﬂ ; g:ggg 0298 | 0.150 0045 | 046
L HEEE | 997 i%gﬂ g:ggg 0300 [ 0.150 0045 | 045 oot 1209 0o 0%
944 12549 106 651




EEIfary)—bI HEHEE 0.97

av9'—hkI ock=18N/mm?

5 Ei e BihEET
=E&(m) = 3
AU & R(m) " B | (D HE® Bl KR
5 gﬁ 4 (m*) R (m?) (m?) (m) L]
ThE. @ @@ @x® |Dx® =100 [dx@x2 @x®) b=z
=hiE | 1076 i”z“g} : g'ggg 0.300 | 0.150 0045 | 048
JILIRY . .
16 pa— 0505 093 12.46 009 059
2| o0 |l o 0207 | 0150 | 0045 | 045
JILIRY . .
ERIEE | 997 i”z“g} : g'ggg 0.300 | 0.150 0045 | 045
JILIRY . .
17 pa— oo 089 11.80 009 059
B | 992 B oo 0203 | 0150 | 0044 | 044
JILIRY . .
R | 998 i”z“g} : g'ggg 0.300 | 0.150 0045 | 045
JILIRY . .
18 pa— T TR 089 1187 0.09 0.60
2| 00 |l o0 0204 | 0150 | 0044 | 044
JILIRY . .
=RiE | 1018 i”z“g} : g'ggg 0.300 | 0.150 0045 | 046 xaﬁ)fﬁ?;vm
JILIRY . . 2 (] I 7R
* HEEE | 008 Ll 029 0298 | 0.150 0045 | 045 o I°-3° % 3.20=0.96 noe oo
. TR 0.300 : ) i i 0.30 X 5.00=1.50
T 3.62 4574 0.36 2.38

BE 13.06 171.23 1.42 8.89




tHE

ELHT #E

A

R
@500

®=05

20

20

22

22

21

21

21

21

21

21

21

21

21

21

21

21

29

29

21

20

22

21

20

20

20

20

21

20

599

HIFL

EEE:
@500

®05

20

20

22

22

21

21

21

21

21

21

21

21

21

21

21

21

29

29

21

20

22

21

20

20

20

20

21

20

599

ELHT

R
@500

D05

20

20

22

22

21

21

21

21

21

21

21

21

21

21

21

21

29

29

21

20

22

21

20

20

20

20

21

20

599

K (m)
[©0)

9.65

9.55

10.83

10.82

10.08

10.08

10.20

10.17

10.28

10.21

10.20

10.20

10.05

10.05

10.31

10.39

14.36

14.39

10.14

9.97

10.76

10.10

9.97

9.92

9.98

10.00

10.18

9.98

¥
&=

HHH

1t

HHH

1t

HHH

1t

HHH

1t

HHH

1t

HHH

1t

HHH

1t

NV
&5

10

11

12

13

14

15

16

17

18

19




FUELT T HEHEE

FyELT T
AVPY % =
2| wE ZERm) | 18(m) EiE(m?) =4
i 3=
=3
® | @ |[Hxp |@=:®
B | 9.65 0.150 1.448
6 2.88
H{EIEE [ 955 0.150 1.433
L% | 1083 0.150 1.625
7 3.25
H{EIBE [ 10.82 0.150 1.623
L% | 10.08 0.150 1.512
8 3.02
H{EIBE [ 10.08 0.150 1.512
LB | 10.20 0.150 1.530
9 3.06
H{EIEE [ 10.17 0.150 1.526
LB | 1028 0.150 1.542
10 3.07
FH{EIBE [ 10.21 0.150 1.532
Z{EIE | 10.20 0.150 1.530
11 3.06
FH{EIEE [ 10.20 0.150 1.530
LB | 10.05 0.150 1.508
12 3.02
H{EIBE [ 10.05 0.150 1.508
1B | 1031 0.150 1.547
13 3.11
H{EIBE [ 10.39 0.150 1.559
LB | 14.36 0.150 2.154
14 431
HEIBE [ 14.39 0.150 2.159
EEIEE | 1014 0.150 1.521
15 3.02
HEIEE [ 997 0.150 1.496
B | 10.76 0.150 1.614
16 3.13
H{EIEE [ 10.10 0.150 1.515
EEIEE | 9.97 0.150 1.496
17 2.98
HEIEE [ 992 0.150 1.488
LB | 9.98 0.150 1.497
18 3.00
AH{EIBE [ 10.00 0.150 1.500
LB | 10.18 0.150 1.527
19 3.02
FH{EIEE [ 998 0.150 1.497
| St 4393




REET E£it&
T & ZE Al Al - = B | #E & =
TEMRERT = 1
RERT
Bt Tw THEHEELY m> 22
RERT
i T8 TEHEELY m> 22
Bt/+E%FE3(0.9)
AT T8 22/0.9 me 24
Bk AR t=22mm RERTFER LY m? 277
TRO—F REETFER LY m? 301
REREER ¢ 300 RERTFER LY m 87




R % T £ # & & F

BEx BEEHE
I W %
WrE | EHWE | I8 WrE | FHWE | IE
(m2) (m2) (m3) (m2) (m2) (m3)
[
NO.4+14.403 0.0 0.0
NO.4 5.60 0.2 0.10 0.6 0.2 0.10 0.6
NO.5 20.00 0.2 0.20 4.0 0.2 0.20 4.0
NO.6 20.00 0.2 0.20 4.0 0.2 0.20 4.0
NO.7 20.00 0.4 0.30 6.0 0.4 0.30 6.0
NO.8 20.000 0.3 0.35 7.0 0.3 0.35 7.0
a F 85.60 21.6 21.6




BT KR

T & B A # A g Hii| ®E & &
MT
EXKERET =
2KAZ 6/3L )L R




